Opérations avec deux fractions mixtes (B)

Date:

Calculez chaque résultat.

Nom:

1 5%+1% =
2 5§+11—(1)=
3 5%+31—13=
4 5%—3— =
5 5§><11—70=
6 5%—5— =

3

7. 21%+5%=
8 5%—41—S=
9 4%—5— =
10. 5%+5; =

Note:
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Opérations avec deux fractions mixtes (B) Réponses

Nom:

—

Date: Note:
Calculez chaque résultat.
1 1 16 6 80 18 98 8
3tls = 345 % 5t T 5 T O
5§+11_0_£+2_1_473+168_641_7§
8 11~ 8 11 = 88 88 88 88
51+3i_2+@_403+240_ 643_82
6 13 6 13 78 78 78 78
s2_,1 277 _ ¥ 3 _ 1 _ .9
5 2 5 2 10 10 ~ 10 = 10
2 7 47 17 799 79
— 1_=— _— = _— = -
59 %195 = 9 X 10 90 330
s 54_17 39 119 117 2
7 3 7 21 21 21
2ol 16 29 3 _ 87
1073 10 3 10716 ~ 160

3 18 28 94 532 470 62

52 —4— =2 =22 - =

5 19 5 19 95 95 95

4__5_ —é_ﬁ— éxl —E

6 7 6 39 234
51.53_21.38_21X7 147
4 77 4 7 T 4 738 7 152
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